/DVIRB

*UXSD 5R]NiDG 35 32=5 - 7\J
o
™
=
n
oD
¥e)
—_
]
=
™
7N 7N 7N 7N
SHZDIGDFID [QG\ZIGXDIQD (iZ GU 3URIUDNINND JDFKRZDE INJ\NRZQ\FK 3RGVIDZ\ SUDF\ NXUDIRUD VaGRZHJIR Z 3RGVIDZ\ SUDF\ NXUDIRUD
%DQDVIDN $QQD = 35 iZ GU&JHIZ ORQIND = 5 | |PJU*HJFIDN "RIRID = 35 VaGRZHJIR GiZ PJU *HIF]DN " RURID
32=5 : 32=5¢& 32=5 : : 35 32=5:
a) 7N 7N 7N
& 3URIUDNINND JDFKRZDE INJ\NRZQ\FK SHDGDSIDFID VSRIHF]IQD GiZ SURI QDG] 3URIUDNINND JDFKRZDE INJ\NRZQ\FK Z GU
o Z GU&]JHIZ ORQND = 35 Z .DIHID ODUIQ = 35 &]HUZ ORQIND = 35 32-5
> 32=58& 35 32=5: 32=58& & 35 32=5:
7N
5HDGDSIDFID VSRHFIQD Z  SURI QDG]Z
.DHID ODUIQ = 35
32=5 :
7N 7N
3UDFD ] URG]IQa Z Gl KDE SURI QDG]Z 3UDFD ] IRG]IQa UZ GU
a) _UDVIHINR ,JDEHID = 35 KDE SURI QDG]Z - UDVIHINR ,JDEHID =
z 32=5 - 35 32:5&
=
0 7N
o 36 = 5\QHN SUDF\ L SRIINND

“DQIH = 35
5 32=5:

JDIUXGQIHQID Z SURI QDG]Z . XNID

3: = 3




